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=4.1.1 %M (p 71)
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H|| Y B4 (PCA

2 BF
=80% rule (320 W AjE A
= 0RA 19| (NEHHIS S AP R A)
=3 HE A HSE

0.7 < 4 + & +
tr(S) tr(S)

"Scree E’I °I9“ (“II°I7‘I 80)
-VE DN, x 5L FHE AR D MEE
DA LA HEUL A|UNMOZ HY

=g 10| A= RN FYE M4 B (elbow)

= AN BEY, SM=EE 80% A ©18

Scree Plot

-<0.9

Eigenvalue

1 2 2 4 5 g 7 2 G 10 112 13

Component Number

- Ml (Ps1)

= HRT 2T H2(PCA_example)
EEE

=l data student
input weight i@,
cards:
12311074 11514512564 11284 118128124 79121
NMZ2120107 11567 11793119105 12395118 79 121
81 11391 11514211984 114 8512293124

run.

=
"o

| =]
AL

proc corr data=student cow
var weight io.

run.
=203, 0F = 19
weight iq
weight 542, 9052632 595.1573947
ig 5. 1573947 18. 6184211



Il 3= 14 T80 - eI

. TQA|9 11O HIE

2
=lproc IML
f=reset print all: =/
»=1542.9 35.16, 35.16 18.62};
call eigenim,e,x);
prirt m,e,x
run:

m

Bdh, 24744
16, 272561
e

0.3977757 -0.066616
0.06E6162 0,997
it

B2,
a5, 16

— 0
coom
oy —
[l ]

MNA
I

o2

HI

.5

-Idata one.
set student
Y1=0.9978+weight+0. 0666+ic;
y2=-0.0666+weight+0.9978+io:
run.

120
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oo

[0

N\
4
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74
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=A%} MAO| AN

52 Uk

HI

- proc gplot data=one:
symboll v=circle c=red.
symbol? v=sguare c=hlue:
nlot ig=weight v2+y1 /averlay:
run.

a
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0 &0 90 100 m1a 120 130 140 150

wiight
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Il 4-6.2(P83)CiIFI2

-ldata app:
infile "Ci¥ data¥applicant txt®

input id 1 ap aa il sc lc ho sm oex dr am gz po k s

run.

—Iproc princomp data=app out=score covariance.

var | -- su;
run.

applicant.txt T (3% p58)-2I At 4,88 RIR, 653 A1 HE, 157TH

4

|
ap
ad

=l
I
hi
S
e
dr
am
qc
po
ki
=1

ap
ad

SC
I

£
B
dr
an
=l

7. 14893617
1.25531915
0, 23404255
223787234
0. 59574468
1. 93617021
-0, 72340426
2. 48936170
4,851 06353
2. 12340425
2, 23404255
2, T4dh5055
3. 127ER95T
3.319145894
A 1S P

I

6.51725724
704920213
&, 49465055

Covariance Matrix

ap A
1.28631915 0, 23404255
9. 86524823 0, 48226950
0, 48226950 3. 95035461
2.09397163 0, 00386525
20478723 0,00531915
2.31382979 0, 48404255
1.76241135 -0, 16248227
2. 3028369 0,37411348
0.91EEREET 1. 74645390
1.97340426 0,54787234
3.17198882 0, 26709220
2. 02127660 1.19148936
3. 1739 1.83510638
1. 48404255 -1.707446581
2.49290730 0,91843972

Covariance Matrix
hi S

-0, 72340426 2, 48936170
1.76241135 3.31023369

-0, 16248227 0,37411348
4, 58953901 3, 48980496
2. 61329787 G, BROZE596
2. 85904255 g.918533295
B.4237R887 2.09131206
209131206 11.52934397

-1.3076241 2. 90647163
2. 0930851 8. 25930351
1.596E3121 a.67774823
2. 9680851 8, 16489362

2.2978723
2. 03397163
0. 00536525
787189716
2.05186170
4, 233585295

595949291
3.00831915

SC

0.59574465
2. 04787234

dr

2. T2340425
1. 97340425
0.54787234
3.25132979
5. 019594651
6.51725723
2. 09308511
&.2593055]
3. 25506353
§.65750000
B.75132979
& .35529757



[| o2 W (LQHE, LK)
Eigenvalues of the Covariance Matrix

Eigenvalue Difference Proport ion Cumulat jve

o TR TAEMD 7 eaean 07434 0'Bdid
. . . . H A
3 105909855 36030576 0. 0864 07778 A SNE A - ,77H (P86
i BETMIE 2T 0. (552 08330 AR £BT 4= 4T )
S-SR F-Spnomn E-RlEs A=fihe
B 3BT 0.7119274 0. 0296 08957
7 2giEMA0  0.080217 00238 09140
8 283506 08804081 00231 09471
9 TOEEIZ2E 0341313 0. 0760 01, 5581 ,
10 RIS 0477019 00132 09712 Figerwectors
}% 6:%3%33%8 H:%EE?SE? H:Hgg? H:g%gg Prinl Pring Prind Prind Pring Prink Prin? Prind
15 DUP0RETR]  0.1991798 0. 0058 0.9934
| 0.49129 0371461 0.200481 277311 0.B36339  0.143537  0.054334  0.168839
}g HEH?EEEE 0.2071663 HHH%E ?ESEE ap 0092250 -.02929  0.041918 0.134730 0042200 0.757039 0121848 -.2R934]
: : an 0070611 00101648 -.131030 OOGO3TEB 0167474 -.0022% 0177237 0. 385044
IT 0203026 -.093047 O.G19733 0126399 0.0B3473 - 018911 -.134627 O 046300
- DS TR IR piem pome Cdiske LetBhl i
C . - - . . -, -, -,
Total Yariance 122530171 ho 0170298 300543 0447178 0 2EEGET - G369 0.0BG7I4  0.177R6] - 084947
an 0970017 —.090010 -.281561 - 172903 179798 0.093920 -.0G4038 - .0BEHI
ax OGA0IE  0OBI212 0075043 0 16624h - 191487 -.2074%6 0.490509 - 38G39
dr  0.3060B0 0.012486 -.113315 - 134644 - 33054 - 110878 O.078867 0.BTRTT
an 0312106 120150 -.244B17 - 14707 0905416 0.228453 0.347601 0037906

gc  0.338764  -.074347  -.060497  0.206271  0.258316  -.129935 - 1215665 -.236G45
po  0.357165 -.024320 0.041308 0317232 0.1086875 -.028784 0.023782 0.291193
ki 0.226076 -.044837 0.385206 - 459715 - 026846  -.148711  0.185820  0.030878
su 0.274483  0.47086Y 0.016816  -.016962 -.349972 0.264634 -.570743  0.003511

| ]
I Eigenvectors
Frind Prini Printi Prim2 Print3 Prinld Printh
I 0.378993 0. 224362 [.092656 -, 190657 0.001965 -, 135682 -, 020959
ap  -.033120 -, 023399 -. 0925594 0, 0396091 (.438649 0, 206481 0.015430
aa —.DEDEEd 0.450152 -, 199223 0.387155 -. 124848 0.095539 0.106257
li -.517090 0. 135003 0.321951 0.069673 0.0441380 -, 182957 -, 315N
o [.264633 0. 150084 0.477239 0.176181 -, 220675 0.431442 -, 436694
I 0.073486 0. 160766 0.213320 0. 123700 0.357672 0,037881 0.442122
ho  0.539060 0. 137652 -.038002 -.139074 -, 156159 -, 266097 0.232601
smo -.241327 0.543114 -. 297876 -. 458551 -. 1158634 -.094137 -. 113065
e —.087106 0. 006795 0.072425 -, 064734 0.1225%4 -.031972 -.001808
dr 0.162946 -, 080129 0.018671 0.113254 0.544965 -, 180792 - 156941
am  -.24237 -, 237856 0.204549 0.237351 -,309290 -, 445256 0.338946
g 0.168305 -, 356813 -.470429 0, 160937 -. 036183 -, 206942 -, 467283
po -, 101284 -, 414023 0.055047 -, 5246 -. 106383 0.411102 0.176385
ki -.103965 0,010533 -, 436794 0.318139 -. 095263 0.416567 0.208082
suo 0.13279 -, 061706 0. 116204 0. 223043 -, 306732 0.065812 0.075094



0es

OO0 I O T e DO D — O D 00— O LT e D D —

OllFl2 4t

Prin Prin2 Prin3

4.3040  -0.3513  -1.75%4
10,1416 0.4179 0.05874
B.6297  -0.1686  -0.3237
-1.328 2.1759 1.0381
1.4804 3.4916 3.2463
2.3332 2.4176 1.0401
5335 4.9223 0.3070
11,0723 4,457 0.0833
4.6013 1.4609

1.2640  -4.4574 0.7550
-13.2%e -1.8724 -0.4129
-16.0805  -0.2647  -2.5238

-6.7358  -4.1336 2.5080

Prind

-5.61553
-3, 06754
-4, hE632
2.81460
2.45018
1.18088

-2 6280

Prink

-3.0173
-0, 75650
-2, 2h6R3
-0.1476
-0.93626
-0.725831

-1.42208
1.61647
0.96811

-2.00530

=lproc print data=score:

PrinG

1.4h534
251241
1. 20628
-2, 4230
0.06325
-2 . 06666

-0.08252

var prinl-prinl &
run.

Prin? Pring

-2.12953  -0.65704
-0.63342  -0.30638
-1.16d37  -0.48122
247626 -1.22760
1.18054  -0.26662
2.27863  -2.15546

0.95344  -0.58452

Ol ot &

Frind
0.85108

110171
=k

=

Prinid
-1.62724

~0.03470
0.66672
-2.0010z
1,937

Prinl

0.:39194
0.92532
0.70054
-1.45042
-2.'18083
-0.23031

1.19763

Print2

-0.27549
-0.73345
0. 53604
0.11382
-1. 13457
-0.50451

0.41432

Prini3

-0.731.30
0.61561
0.09552

-0.76536

-0. 18763
0.67968

-0.85676

Prinld

-1.48713
0.14748
-0, 30442
0.53535
-0.07232
-0.08674

203336

Prinlh

0.02523
-0, 46044
-0. 07606

0.13349
-0.32141
-0.82357

-0.63709
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=
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aa 0.101846 _-

li - 093042

EZBRESNETSE

i

et
%
L= 1

=2 B I = Q== |
=
=

%

- Mg 22 1 30 2[5

- LC, SM, DR, AM, GC, PO<]
Hojgo| d8=

| -
- BN & NN 53

=
AN H AN H

'N"21“8I:::gg}14§;:
AN H A

= N 3TN E: pade
AN Y

M 4FYE Y

=O|N| 32| }FA| EM|< Hlul ?
=SPSS M= ?



48BRIGUR ERIZEHE 658 AHE HH 4 THKI (3,47%5 A HI)

| symusgoige vs 22 em-un

3.2.1 2N N7 (APPLICANT.TXT)
AR 48 T 4 NRAL 6F2 MUS
229 LSl Bt - Al=E SASE =25

—

AL 157T]

Olo

1. IDAA /AL D)
2. Letter(P|&A X1) —
3. Appearance(® 2 X2)

4. Academic Abality(Ztul S X3)
5. Likeability(Z1 2 & X4)

6. Self-Confidence(RIM & x5)

7. Lucidity( F2 x6)

8. Honest (R4A x7)

9. Salesmanship(OI7|S 55 x8)

16. Suitability( F XM HY X15) —

— 157 B4

=332 MaF o
(1) AVG=(X1+X2+ ... +X14+X15)/15

9 HAE M B WY 52 N

=333 |55
(2) Avg=(W1X1+w2X2+ ... +W14X14+wi15X15)

whered w,; =1
-

| [o =

TEAE BMAt] FYE HEOR M
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proc corr data=app:
var A1 —=15%;
run.

2) 9 HRYL2| 70| 23 TGOl EREICT,

5, @M 02 1812 oy 9 BRSO,

Groupa | Xg,X6,X8,X10,X11,X12,X13
I Group2 | X1,Xg,X15

Group3 | X4,X7,X14

Groups4 | X2

Groupg | X3

3) 91 JE 2% 132 1B RS 79 83
HAB MM 6BS MY B 4 ATt

138=

AVG, =[(X5+...+X13)/7+(X1+X9+X15)/3+...+X2+X3]
/5

-l
—

Ot

LS
A
Ay

o E
o -

8
/x

AT o

o
-
= VAN
L= T

2M2 28- CHTOIN 2

o

4

<HSHEE 15T eSOl 2ot YHs Zdo1n.s



Hll 1 3% p58-59, MSBT 2Bt 6 M)

=(p58-59, Z=_1&H)

data app;

infile 'C:WDocuments and SettingsWswWH & st
WrCHH 22 M Wsassh Wchapter3_dataWchapter3
dataWApplicant.txt' firstobs=2 ;

input ID X1-X15;

avg=mean(of x1-x15);

run;

proc sort data=app out= out1;

by descending avg;

run;

proc print data=out1;

var avg id x1-x15;

run;

= OBS avg
=1 9.60000 40
=2 9.46667 39
=3 9.00000 8
=4 8.60000 7
=5 8.60000 23
=6 853333 22
=7 8.46667 2
=8 8.40000 24
=9 8.13333 9
=10 7.66667 10
=11 7.66667 16
=12 7.40000 3
=13 7.40000 4
=14 7.20000 12
=15 7.20000 20
=16 7.00000 17
=17 7.00000 4

322 23 02A29806%

ID X1X2 X3 X4 X5 X6 X7 X8 X9 X10 Xi1 X12 X13 X14 X15

1069109101010101010101010 10
106910910101010108101010 10
999899881091099910
998888881081089810
71079991010399109108
987891010103108108108
9105810991059988810
98710810101029799108
9978888598988810
471021010710310101093 10
6967898988768610
7836989749986810
47776988688108865
47104101078288101037
4878891052679889
877795866786678
698101079103157994



H||2.(3 o P59, 158l 2[Pt 6 M

data app;

minfile ' C:\Documents and Settings\sw\H} &
OF O\ CHEH 2 2 M\ s 81 2\ chapter3_data\chapt
er3 data\Appllcant.txt firstobs=2 ;

=input ID X1-X15;

sweight=(X1+2*X2+Xx3+2*X4+X5+X6+2*X7+2*x8+2*
X9+X10+X11+x12+x13+x14+x15) /20

"run

=proc¢ sort data=app out= outs;
=by descending weight;

"run

pro¢ print data=outt;

=yar weight id x1-x15;

"run;

= SAS A|AHL
= 201 0o¥ 23
- (53N D)

= OBS avg ID X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12 X13 X14 X15

=1 9.60000 40
=2 9.46667 39
=3 9.00000 8
=4 8.60000 7
=5 8.60000 23
=6 853333 22
=7 846667 2
=8 8.40000 24
=9 8133339 9
=10 7.66667 10
=11 7.66667 16
=12 7.40000 3
=13 7.40000 44
=14 7.20000 12
=15 7.20000 20
=16 7.00000 17
=17 7.00000 46

2 A QA ORISR 2UFAL 0, X4, X7, X8, X9)
-SIAL BRR) ) 2B IEN

322 23 02A29806%

10691091010101010101010 1010
106910910101010108101010 10
999899881091099910
998888881081089810
71079991010399109108
987891010103108108108
9105810991059988810
98710810101029799108
0978888598988810
471021010710310101093 10
6967898988768610
7836989749986810
7776988688108865
47104101078288101037
4878891052679889
877795866786678
981010791031579944



I| 3 peo SR R4 QSBUETIT)o) oot 6 M

= 2014 0o¥ 27 3122 2% o1A|44B46 %

data app;
sinfile ' C:\Documents and Settings\sw\H} & - OBS Aw ID X1 X2 X3 X4 X5 X6 X7 X8 X9 Xi0 Xi1 Xi2 Xi3
X14 X15
OFH\CHHH F B M\s s 8t 2 \chapter3_data\chapt
er3 data\Applicant.txt' firstobs=2 ; " 19.00000 89 998998810 91 9 9 9 10
sinput ID X1-X15; = 2897143 4010 6 910 910101010 10 10 10 10 10 10
= 3891429 3910 6 910 910101010 10 8 10 10 10 10
= Aw = » 4861905 79 988888810 810 8 9 8 10
((X5+X6+X8+X10+X11+X12+X13)/ 7+ (X 1+ X 9+X1 = 5839048 23 710 7 9 9 91010 3 9 9 10 9 10 8
5)/3 +(X4+X7+X14)/3+X2+X3) /5; " 6820952 9997888859 8 9 8 8 810
= 7806667 2 910 5810 9 9105 9 9 8 8 8 10
"rumn; » 8805714 22 9 87 8 9101010 3 10 8 10 8 10 8

. 980380 24 9 8 710 8101010 2 9 7 9 9 10 8
» 10757143 16 6 9 6 78 9 8 9 8 8 7 6 8 6 10
'by descending AW; = 11753333 46 9 81010 7 910 31 5 7 9 9 4 4

u . 12731429 5 6 8 8 8 4 4 958 5 5 8 8 7 7
"run;

proc sort data=app out= outt;

= 1373047610 4 710 21010 710 3 10 10 10 9 3 10
= 1472190520 4 87 88 91052 6 7 9 8 8 9
" 1572095213 6 9 810 54 9 44 4 5 4 7 6 8
"proc print data=outt; " 1670952444 777 6 98868 81 8 8 6 5
= 1770761917 8 777 95866 7 8 6 6 7 8
= 1870476214 8 9 8 9 6 3 825 2 6 6 7 5 6
"run; = 1970285712 4 710 41010 7 8 2 8 8 10 10 3 7
= 20701905 6 77 7 68710 59 6 58 6 6 6

syar Aw id x1-x15;
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el VS aNraye) =
dataresult; [* BigZE g HOE SR 4 AEE BT/ _CID_Q:J 04 = Ol T UH%
set score;
total=prin1+prin2+prin3+pring; = e
keep id prin1--pring total; ("'" o 6Eg \—tg- 39, 40, 81 71 9 5)
run; 0B id Prin Pring Prind Prind total
139 130802 3.6 23857 L1512 19,5456
proc sort data=result; /* Z R4 HH AHERIT S QIR 2 40 138044  3'EBO3  1.BG67 -0 10 19,1419
sorting*/ 308 1.073 44857 0083 0.09M1 15 0B
_ i7 9593 49293 03070 -DU0RIT 1407066
by descending total ; E9  7EWE 46003 1409 -0BI8E0 131372
_ & AR 34906 32469 Z.ROiR 10.6RO]
run; 724 98197 2389 20l 2019 83048
S N ERE L
proc print data=result; /* Z 4R LOITHE R RHE R 1 2 0dIE 0,419 0.08M  -3.08784  7.EED0
=/
var id prin1--pring total;
run;
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»data student; /* S 2, 10 Ag*/
=input weight ig@G;

=cards;

=123 110 74 115 145 125 64 112

=84 118 128 124 79 121 112 120

=107 115 67 117 98 119 105 123

=05 118 79 12181 113 91 115

=142 119 84 114 85 122 93 124
"run;

= /*proc¢ corr data=student cov ;
=yar weight ig;

“run; */

»Proc¢ princomp data= student out=studentt
covariance; (Z2 covariance YEA)

=yar weight iq;

"rung

Y2 NSNS Aol 2y

= Eigenvalues of the Covariance Matrix

» Eigenvalue Difference Proportion Cumulative
=1 545.252392 528.981099 0.9710 0.9710

=2 16.271293 0.0290 1.0000

] Eigenvectors

= Print Prin2

= weight 0.997779 -.066611

=iq 0.066611 0.997779

=  Eigenvalues of the Correlation Matrix

= Eigenvalue Difference Proportion Cumulative
=1 134969499 0.69938998 0.6748 0.6748

=2 0.65030501 0.3252 1.0000

] Eigenvectors

" Print Prin2

=weight 0.707107 0.707107

"iq 0.707107 -.707107
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